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¢20kN

¢1om

7

[ 5 m —>¢—3m

| -8 kN

o

-18kN

36kN.m

- ———— - -

finihdn 5<x <8

V=12-20=-8kN

M =12x — 20(x — 5)kN.m
M =12(5)— 20(0) = 60kN.m
M =12(8) - 20(3) = 36kN.m

=

A o

B vwsalgasen R, Rg

[>M, =0]...10R = (20x5) + (10x8)
Rg TN
10

. RA=20+10-18=12kN

3

e 0<x<5

V=R, =12kN

M =12xkNm
X=0m, M=0kN.m
X =5m M =12(5) =60kN.m

finthdn 8<x<10
V=12-20-10=-18kN
M =12x — 20(x — 5) —10(x — 8)kN.m
x=8m, M=12(8)-20(3) —10(0)=36kN.m

x =10m, M =12(10) - 20(5) —10(2)=0kN.m

sulumuddagega  60kNm nigshigan1anin A lunmeunileminy 5 was
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U q

B s R, R,

[XM, =0]..10R, :%x10x15x§10

¢ 10m:
Rg = 290 _ 5ok
10

~R, =%x10x15—50=25kN

e 0<x <10

9 1
wsanaruannsznnumuluszes x

10 4
3/ v 3/ v
V=R, —— =25—— kN
n =P =25-2(x)
x=0m, V=25-0=25kN

x=10m, V=25- % (10)° =—-50kN

M =25 —E(x)z{ﬂ TuuaaalAgagan SF=0
X3 3 2
=25x — 20 V_ZS_Z( Y =0
3.2
x=0m, M=0kNm ZX =25
3
x=10m, M =(25x 10)—%=kN.m x= 224 577

My = 25(5.77)-% =96.22kN.m

J o o A 1 [
aulumuAsagaga  9622kNm  n3zyhngan1nnin A Tununiomny 5.77 was
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